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QUESTION 1

A developer working in the RTC Eclipse client has checked in their changes and found that another
developer\\'s incoming change set has affected the same file. The developer attempted to Auto Resolve the
conflict, but was unsuccessful.

Which of the following would cause this to occur?

A. The incoming change set appended new lines to the file.

B. The developer\\'s change set included changes to multiple files.

C. Both change sets contained changes to the same line in the file.

D. Work items related to the change sets affect the same component.

Correct Answer: A

QUESTION 2

An administrator has created a new type of work item with its own unique workflow. When the users begin to use this
new work item type, the available states and actions are not from the expected workflow. How can the administrator
correct this?

A. Compile the workflow source.

B. Deploy the new work item type.

C. Bind the workflow to the work item type.

D. Publish the workflow for the work item type.

Correct Answer: C

QUESTION 3

A development team is utilizing a project area built on the scrum template. The scrum master wants to understand how
much estimated work remains in the iteration and projection for completion. What action would the scrum master take to
assess this?

A. Examine the Ranked List of work items.

B. View the Burndown Chart in the plan Details.

C. Compare the plan\\'s Initial to Planned snapshot.

D. Review the Effective Estimate and Time Spent in the Roadmap.

Correct Answer: D
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QUESTION 4
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An administrator is comparing the capabilities provided by the Jazz Team Server to those delivered by

individual Jazz applications.

What is an example of the Jazz Team Server capabilities?

A. An agile development environment.

B. Shared services to all Jazz applications.

C. Process engineering for all Jazz applications.

D. Advanced source control for geographically distributed teams.

Correct Answer: D

QUESTION 5

What is the source of the data to create metric based reports?
A. RTC REST API

B. CCM Database

C. Data Warehouse

D. Data Collection Component Database

Correct Answer: B
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